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SUBJECT: d|=zt HA H1000 M &
ClR dE 2 A Al
ITEM DESCRIPTON TOTAL
SXAH=oA - m* 0.20
(CHMITH THALE Q&)
S 2t OLF2HTH: (0.06x0.06x3.14) x H1.23 = 0.01 m’ 0.01
(015) @Jt=ZH(B=): 1.0m x WO0.15 x T0.04 = 0.01 m’ 0.01
22X (0.005x0.005x3.14) x L1.0 = 0.0001 m’ 0.0001
(D20)
HOI=S & Xt EEHIIS(ZEM): @+ @ =0.02 m’ 0.02
SEHIIE(JIEH: (0.005x0.005x3.14) x L1.0 = 0.0001 m’ 0.0001
HYI=SHel SEHIIZ2(SM): (0.02m *0.56TON/m) = 0.01 ton 0.01
SEHIIZE(IIEH: (0.0001m *1.14TON/m") = 0.0001 ton 0.0001




SUBJECT: ¥t &o] ZA1% 230008500 M &
T F A2 Z A Al
ITEM DESCRIPTON TOTAL
ME | X| T E # IHETZH A= m’ 485.00
(T100)
ME XTI S # IHETZH A= m’ 240.00
(T50)
25 ¢ 2% TH NS x :
asen 25 ¥ 24 #NETH ME ES 5.00

— 00 M= A8

8600

= poAs=E o ] 220.00
g (T8)
: I35 3 o O
4 WECH AS - .

— TI00 7] =Z3 8 E (25-21-12)
| sholo] sl 41(#8, 150x150) 28| - Al 1.00
B0 MY 2 E 40 18-9)
L 200 4 467 B892
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SUBJECT: H]d3&}$-~ 2500010650 M &




T 5 2 2 A Al
ITEM DESCRIPTON TOTAL
SteAEZ &3 - M 500.00

= 2ITHO| T (CGI ) # WSO aE M 590.00
(T1.2x019.1) szag
BRI SeAIE M7 = 49+ MY i 380.00
(NEZIE 28)
=oig = TN i 380.00
IS I i{fitin I (TO.1 x WAOOcn) ——
22 @ # WSO AE i 380.00
R (1.8m x 15m) st=ma

— TL00 7| =& A E (25-21- 12)

|— sholof w41 (# 8, 150x150)

| B0 wPRIE W0-18-8) xpat #OHEEZH MS o 35000
L 200 4 467 B892
(6X50x75%) 8t =11 5

=S IHH DI - EA 12.00
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SUBJECT: AT EXF T100 G
T F & 2 Al
ITEM DESCRIPTON TOTAL
Shis] 1.2x1.2xH0.35 = 0.5 0.50
(J14190% + 212210%) # OIR=E 200 (B2 = HQ)
HEHMe A+ HE + Z3RIE =0.35 0.35
(D1H190% + 212410%)
ek SR C& BEIOJl - EXM2 =0.15 0.15
— 00 M= A8
(J14190% + 212410%) 22518 ME WA
BRIEWEE L TE | HO.20xImxIm = 0.2 0.20
IS I (it o1 + o12)
I ==l HO.20x Imx 1Imx1.04(&Z) = 0.21 0.21
(2e21) gz
— TI00 7|2 22 E (25-21-12)
o o |BrEAER (1.0xHO. 1)x2%t = 0.2 0.20
L 1200 A (# 467 A 202)
(63l)
232 E6H HO.05x Imx1m = 0.05 0.05
(tHaI)
2o (HO.05x Imx Tm)x1.02( & Z )= 0.051 0.051
(25-18-08) EEpl)
292 EEHL HO. x1mx1m = 0.1 0.10
(B27xE)




SUBJECT: ZA¥EXY T100
ClR e 2 A
ITEM DESCRIPTON
o2 (HO. 1xImx1m)x1.01(& =)= 0.101
(25-21-12)
2+01 O Ol -

(#8, 150x150)

g
— 00 M= 212

8600

C
E

— TL00 7| =& A E (25-21- 12)

t— sholof w41 (# 8, 150x150)
- B0 MYE3YE (40-18-8)
L T200 24 (# 467 A4 244)
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SUBJECT: Ao+t <9 Wy Ma g
Tz A E 2 Al
ITEM DESCRIPTON TOTAL
BT 0.9x0.9xH0.5 = 0.41 m' 0.41
i J]‘%I (D1 H190% + ©12110%) # OIS = 200
e SEHE 0.5x0.5x0.5 = 0.13 m’ 0.13
. = (317190% + 2124 10%)
f
o © D OA HIOD| - &&Hel =0.28 m’ 0.28
__ IR (D1H190% + 212810%) TZ0IR M=E MRBL
= T%—@ T )
SETHHEL (0.5x0.5)x4% = 1 m 1.00
N0 (63l)
2l EEAE 0.5x0.5x0.5 = 0.13 m* 0.13
@
g (22)
dig|= (0.5x0.5%0.5)x1.02(& =)= 0.133 m* 0.133
ANCHOR BOLT ( 25_ 1 8_08 ) 8El- %2%
@19 x 400m/m
- Mo gt - o 1.00
B ﬂ': (2euxd)
‘ L :;7500x500x5007\i§3a\5
Tt e es1s-08)
SUBJECT: <HAW7HE A H1200 M @




1080

#3.6 X NB5 STS SCREW NAIL
2

0SB

STS M10xL160 2t
B/N/PW/SW BOLT CAP

( RAILING POST ) 120 x 120
o] &2

( RAILING SHOES ) 140 X 30
o| S E|

STS M12 x L250 & &HB/N/PW/SW

nmrerrrerrrerrret
24 LKL
NN WAV NNWN
I XXX,
N QKKK

X
SN

2 2 A

(#3.6 x N65 STS )

[
[TEM DESCRIPTON
SMtE & £E ®I1E(120x120): H1.45xW0.12 = 0.17 0.17
(ot2€200) @L2H(T30): L1.0xWO. 12x3EA = 0.36 0.36
=2 ®I1E(120x120) 1 H1.45xW0.12x0.12 = 0.02 0.02
(015) @F2H(T30): (L1.0xW0.12x0.03)x3EA = 0.01 0.01
(®+ @) x 1.1(&3) =0.033 0.033
ZS10%
ACQItS &= SHOIS) : ®+ @ =0.03 0.03
BHE RS ®I1E(120x120) 1 (H1.45xW0.12)x42 = 0.7 0.70
(STHH) @F2H(T30): (((L1.0xWO.12) + (L1.0xW0.03))x3EA)x2%H = 0.9 0.90
QUAHLH ®I1S(120x120) 1 (H1.45xW0.12)x42 = 0.7 0.70
(23l) @F2H(T30) 0 (((L1.0xW0.12) + (L1.0xW0.03))x3EA)x2%H = 0.9 0.90
=2A2E - (Hgs HE) 8.00
(STS M10xL160)
AOFREE - (Hgs H8) 12.00




SUBJECT: PEo|ZH D250 M 2
T T 0 =2 A Al
ITEM DESCRIPTON TOTAL
BT (0.48x1.0 + 0.78x1.0) =2xH0.6 = 0.38 m 0.38
(J124190% + 2124 10%)
7 ? EH2 (224)0.45xH0. 15xL1.0 + (2)0.125x0.125x3.14 = 0.12 m’ 0.12
T 1008 + 912t 10w)
< E%@%E HHSD CHE BIDI - REMLI = 0.26 m 0.26
@%gﬁ:ﬁ: %@%@% (J1H90% + ©12110%) § L2512 e R
%ﬁ%ﬁgﬁ%\ = i%@%; SeRs U O 0.45xH0. 15xL.1.0 = 0.068 m 0.068
==l = (J124190% + 2124 10%)
2 (222) (0.45xH0. 15xL1.0)x1.04(& =) = 0.071 m 0.071
I S =4
PEREE ¥ 24 - M 1.00
(@250)
PEOI S 2 Ix1.05(25) = 1.05 M 1.05
(250) e
aguc 12 = 6n= EA 0.17




R SV
SUBJECT: #H+HA 1000x1000 VS
T F A2 2 2 A Al
ITEM DESCRIPTON TOTAL
Zhi) HO.7x1.6x1.6 = 1.79 m 1.79
(D1 H190% + ©12110%) # 019 = 300
EHL (1.0x1.0xHO.15) + (0.9x0.9xH0.55) = 0.6 m 0.60
100, 700 100 (J1H90% + 212410%)
MDD CHE B - ®EH™2 = 1.19 m 1.19
I t i 2
I (D1 H90% + 212410%)
o I A TSI = = 1.00
s O °°g
8 Ag0d o0 - = 1.00
(700x698x6xT75)
0 >
FO Oo o) . O W g
LJ}SO 600 150 L(L




Sl rwe RN
SUBJECT: #44B 500x500 MAe =
T & A = A Al
ITEM DESCRIPTON TOTAL
E1 101D H1.15%x1.2x1.2 = 1.66 m’ 1.66
(J1H90% + 212810%) # (== 300
SE X2 (1.0x1.0xHO.15) + (0.5x0.5xH1.0) = 0.4 m’ 0.40
" (1 H90% + ©12410%)
(| — — DRy O& HIDl - &M =1.26 m* 1.26
(J1H190% + 212110%)
© © PSR! #IIEHE = 1.00
o o
0 0
o o g N REE - B 1.00
(300x300x6xT50)
O 3
0% ]

300




